] @ | Het2m
D Bl 37 E bR A R R < LB ST
IS -l-*ﬂiﬁﬁmnﬁﬁﬁﬁjrfﬁ)\m%%ﬁ\i% B ¢ GiltE

L BEHAR 66Kk P2 680k BERMREHREILG &K
B AU T RS ERER
@QEREE 46 KEN BRE 2 BESHBE LN ?(2%)
OEERERE 4 SR LAAERBRE 2 BAELHBELMT?(5%)
OEREN2 6HHFER 1 SRBE ) IEREE I RE 4 5350
% 2 4B SRR BT ? (5%)

2. ANFABEETHESRDES 40% 0 R LTFHMEBTHRELNAHEA
700 70 EABUFIRL 450 B0 BRIBBEEH A N Fhik
FHEHEE ﬁmmm%ﬁmmﬁﬁﬁ%m%m ﬁﬂmk&ﬁmmg
HWE RIFHTHER - FRLETHEA
(a)st F4F ~ ﬁ#ﬁﬁ%ﬁé%%ﬁm%ém&&ﬁﬁﬁ$owm
(YR R RAREBEH A 2ATHFAEMFHOTNEME EEHRR
Bt o (14%)
(RH A X THRHENSERAL - 2%)

3. #4K Cube-Square Rule 463t 8 vt 12 ot SiE x> Brb £ &
HEE BB 8 FTRAMIBAERFTLFEHEREES L
A3 7 (8%)

4, —FHERBYPERREF RN LRERE  —REB R0 0P
BRIRBEFERBFHY B BMALRES 50 A bk E5
20 REE % BELREAF-BAFKY B ARAWEEE
BERBEA MBEBAREAE » F—RELbh PRES — Rk
BAFFEAR F 3 Ao o H3tih -

() — R B Ko e AT W& L7 4 ST AT P do 4T 2 (2%)

b)#F —REREKAFLBRETKERITHARE » b2 B4 ?2(3%)

C)—FERETMERFE  BEHRIF 5% bR FABFZ
RBEFH SV 7 (5%)
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I 5. Under what kind of conditions (please give an example for each s'émpli-né in’le'thE;d) ’
) would you recommend:; (a) A siniple random sample (b) A cluster. sample (c) A~
. » stratified sample (d) A systematlc sample [20%] T o -

" -,
5 v . T it s
3 * il + ’ '
- . A . -
- ¥ ' '

1k 6. Consider independent random samples X1, Xz, ....... , Xy from normal distribution
1 | N(y1, 0*);,andYy,Ys,..00Ys from niormal distribution-N(u3, o0 ) where ~
I - valtyy, 2, -ofandgsare unknown, please identify (a) variance (b) degree of '

i: freédom (c) test statistic, of a any situations whén compare two samples means _
[30%)] S a7 . I

T e
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Please briefly discuss (A) DeLone and McLean’s Model of IS Success[15%)]

‘ < - (B,)“ McFarlan" and MCKGI]IICY’S leoi‘rnation ’l:‘eChIIOIOgy

Strategic Grid[10%]

2. Please identify and discuss reasons why IS projects are more vulnerable to

, failure than other types of projects. 7 [25%)]

. 3. Please draw. 2 figures for traditional value chain and customer-oriented value
chains [25%] . ) ;)

4. Explain the benefits of fuzzy logic and neural network integration. [25%]
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1. A method of obtaining information, know as , relies on a'client ™~
TR T 1 L AR W eaiflen,
computer to request a Web page from a server. o
R s P

, (A)Pull technology . B
X S N AR L
y (B) Push technology - , . )
. . A TP S E TPT IR TP (&}
(C) Online technology
D) webcastin,
!“(J) Gy LS §. PO YN B V"'" !’ oo fosred, it 7 aner, TIg - X

s f LTU l‘\-]‘(‘l‘ﬂ?
2. Software donated for public use that has no software restrictions is ‘d
T vh 375 Q% . tl }

I (A) shareware e
(B) public domain software . e e (B

+ (C) freeware .t ;:G'q,”l '

(D) copyrighted . 12760 Y

\.5 skl '(-JJ‘ G370, mon o ’ *
3. Current technology st supports liv€radio broadcastmg, live vided concerts due ;o
_,-,._1 " _;-_- e f oy

_____ technology. »
(A) linking T vroeeahac @
(B) subscribing . Ml RN ”‘:, ,
(C) posting RN s A
' (D) streaming
) LT T ey T e T ™ T T
STt BRI 1, W < hm h ee e e

4, AWeb page that offers a variety of Internet serv1ces Trom a smgle, con\:ement
e Ceoff

' location is called a(n)
. & - !—;1'13: ' ‘T J,
(A) Web community - L
! : s A VL r
: (B) informational Web page - SRRt
LT ‘[f o ({1
(C) news Web page - wwhee (d)
(D) porta.l i
A TR~ B b el R I S 1 ¥ LU 11
I - L'-..J.H . ’ﬁ]"‘ rH' “ <+ T b . -17'."1- + 5 T 1 ] Sy
' 5. The most popular use for c2C e-commercé is’ ~ T - ? SUIONETI
% 25!
(A) peer-to peer transactions A b2l
R A VIR T (e '

(B) online auctions b

e a‘,_ﬂ"t,n. nen g y

. (C) individual to business transactions . g

-4 'I‘;’I{ l- Pl l‘ln.\rla(rl‘

|
l (D) brokering B B s il VL
[
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6. The rules governing how information travels along a network are inclided under i

'(A) types of wireless transmission
(B) transmission protocols

(C) types of networks

(D) devices connected to a network

7. will search for sites that have changed or have been recently adde.d to ihe
World Wide Web.
(A) Web browser
(B) Search engine
(C) Spider

" (D) Gopher o

Yoo Ll | S b - . v - l':

. + 8. Anothez;)name for object-onented graphics is o
(A) bltmapped graphjcs . ' - . o
(B) three-dimensional graphics T

(C) raster graphics
(D) vector graphics X

9. Which of the following types of computer crime involves invadinga
communication system by ndmg behmd a legltlmatc user w1th a password°

| (A) data diddling “ "

’ (B) piggybacking '

(C) the Trojan horse

(D) salami slicing

10. Some can learn a user’s interests, develop a user profile, search ’zhe'enfii'e
internet to find relevant documents, and automatlcally dellver the. mformatlon to
the desktop. Tt ’ - -
(A) neural networks

. (B) network agents
{(C) shopping carts
(D) electronic storefronts

D
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11.A

12,

13.

14.

15.

s a network that connects computers and devices in a limited =~
geographlc area, such as a home school computer laboratory, office bulldtng, or .
closely positioned group of buildings. P
(A) local area network (LAN) .- i
(E) wide area network (WAN) , oo
(C) metropolitan area network (MAN) )
(D) central area network (CAN)
When conipared to cables that use wtre, ouch ,ﬁz;s‘ twisted-pair and coaxial oabl_es_,,
all of the following are advantages of fiber-optic cables except _-. - N

= it

(A) less susceptibility to noise (interference) from other devices . »
(B) faster data transmission . A B
(C) less cost and easier installation and modification

(D) better security for signals during transmission e "

Which of the following is a LAN technology that allows personal computers to:
contend for access to the network? [
(A) TCP/IP

(B) Ethernet

(C) WAP . e
(D) Tokenring -

Which of the following is a.set of standards for, digital transmission of data over -
standard copper telephone lines?

(A) cable telev1s1on line. . T -, b

(B) Integrated SerV1ces Digital Network ) -~ .

(C) T-carrierline . . . e -

» - - L) -

(D) Asynchronous transfer mode

- -

To track a customer’s path through a site, e-commerce software programs use

(A) banper ads T - e
© (B) spam S “ .
(C) worms
(D) cookies
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16. Surveys indicaté that a large percentage ‘of customers are dissatisfied with

P 3 ]a M : . { -

at online busifesses.” - - -~ - I
(A) product availability T ne T t .
(B) customer service ' - . ag
(C) additional taxes ‘
(D) all of the above ' . TR .

17. The most popular private key encryption system is
(A)the datdencryption’standard (DES)’ ' - A
(B) the Clipper chip. - o0 et oot
(C)RSA encryption = %+ * 7 - -

(D) Fortezza * ' - - !

18. Software pirdcy is a serious offense becafisé it
(A) increases the chance of viruses
(B) reduces the ability:to receive technical 'support
(C) drives up the price of software for all users
(D) all of the above oo

19. Secure HTTP (S-HTTP) _
(A) is a notice, issued and verified by a certificate authority, that guarantees a uSer '

or Web site is legitimate
(B) provides private-key encryption of all data"that-passes befween a client and a :\
server - B e
(C) allows users to choose an encryption scheme for the data that pas-ses between
a client and a server ! ' S !
(D) uses a public-key encryption to secure credit-card transaction systems'*

f
L roe T

20. A polymorphic virus
(A) modifies its program code eachi tirfie it attaches ifself to anothér progra or
file . C
(B) is a malicious-logic program that copies itself repeatedly in memory-orond' -

disk drive until no memory or disk space remains
(C) is a malicious-logic program that hides within or looks like a legitimate -

program -
(D) infects a program file, but still reports the size and creation date of the original,
uninfected program

»

R ——
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21. Which of the following is an unsolicited e-mail; message or-newsgroup posting:

sent to many recipients or newsgroups at once? T ad
(A) Aflame - I R R
(B) An emticon .l
(C) Aspojler |~ T T N T
(D) Spam : C o . ot

22. Which of the following is a process of collecting data from the Internet as a source

for a data warehouse? - t - S N

(A) Data farming

(B) Web farming RN e T T o
(C) Data mining - bty TR
(D) Web mining. - T ae e

i#-,r "

23. Symptoms of carpal tunnel syndrome (CTS) include all of the*following except

(A) extreme pain that extends from the forearm to the hand
(B) numbness in the thumb and first two fingers- . . 4 - . e Lo~y
(C) burning pain when the nerve is compressed

(D) tingling in the thumb and first two fingers -

Co e -
24. The program develop life cycle begins at the start of the phase in the
system development life cycle,
(A) planning .
(B) analysisr .., : - .., O T S R
(C) implementation . rhe v owy L Conr
(D) support. LT e Soa T
. A PR | AP ! v d
25. , developed as;a procedural langpage similar to C, in its latest releasgiis ¢
an interpreted scripting language with powerful text processing capabilities, . -,
(A) Java
(B) JavaScript T R RS SCRRNU AR B
(C)Perl ' el
(D) PerlScript . R T ST S vtk
RPN I e s .: <t Y. )
S A S I SR £ }
oo P SR |
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26. What is.the result of the following Java program? ~ A
public class Conversion { SCIE ST c BT
public static void main(String[ ] args) { Lot

double x; ST

x = Math.round(2.0D * Math.abs(-14343 / 2344) * 100) / 100 0 T
System.out.printin("x = " + x);
}
}3-. 2 ) L. e ' < ol
(A)x=120 (B)x=12.24 €)x=-12.0 D)x=-12.24" -~

" 27. A Jayaclass Simple1 is declared as I O X
public class Simple1 { v y
static private int i; S R SN
private int j;
public Simplei(int x) { Lox : o
j=x —— -
} e - RV
M static pubhc void method(int x){ « A A
| - L

“ - . -
} a Y " - - . ' B A

»pUb|IC void meth0d2(|nt X) {

Jro e i s gl

J— N - ma ? 2 ie | T oo
- - b M

i] ] } ; Ce . e
} c PO S
Consider another Java class MainSimple1. In its main method, a local variable
simple is declared and initialized as EEEE N
Simple1 simple1 = new Simple1(20);
Which one of the following statements in main is incorrect? .
(A)simple1.method1(30)f ' -* (B) simipléTmethod2(40); - . -
(C) Simple1' ethod1(50): 1 (D) Simpie1.method2(60); - ~

_ 28. Which'one of the following steps is incorrect, if we want to set a Java object'to be
an action listener? - , =

. ia
oy

- -

(A) Import the Java event-handling classes.
(B) Modify the class declaration to include the clause extends ActionListener.
(C) Add.the actionPerformed method to the class declaration,

(D) Register the object to the event source as its action event listener.

D (] i




“y
.

: . .. #TEeCn
: ' —\_II- % M—$':‘[‘ & j( %1.4 = ., : %Fﬁ" -ﬁ*éaf}?: . r-;: ,’ )
FjL_{—‘;%-EEE:Fg%F ff @ifﬂ}\%%%ﬂ%ﬁ% N BE- RIS (?) »

29. For each of the following Java expressions, assume X is 10, y is 20, and Zis. 30 S
Which one of the following Boolean expressions is true?
(A)x>y&&y=>x ‘ ‘ .
B)x-z==x&& Math:abs(y‘- Z) ==X . o P
O x<y+2z) | H(x+10<=20)
D) lx==y) && (x 1=y ) && (x < y{| y < x) L

30. What will be the:value of sum after the. following Javamested loop is éxecuted?
intsum=0;" «+ % TP (RS T T
for (inti=0; <= 10; i++) N T
for (intj=10;j> 2™, j—) "o L Sl
-sum = sum + j - i);
System.out.printin(sum); . L o
(A) 120 . (B)145.,(C)165 (D)180 - oos ST

1, T,
1

31. Which one of the following SQL'sfht;:menfs is syntactically and semantically**

correct?
(A) select'.. name, salary L S ol
from. .. emp .~ ' w .o
~where. 1 ' €alary> all (select . salary .. .
from  emp); ° LY RN
(B) .select .~1* name;birthdate ~ P d .
from emp"
where - - birthdate = (select min(birthdate)
S  w . .. .-_+ . from " emp);
(C) select. name, deptno
from emp .° .-
group by deptho;, . - .
(D) select name, address )
vifrom. . emp . A LT
where r:- . id>'100" - v A
. ordered by - name; « - SRR R

¢
- -
i a _._l L1 Fom . R | . F —_ - -

32. Constider the case in which a rélation R his 120 tuples and another relation S has

C has 20 tuples. What is the join selectivity of C?

160 tuples. Let C be a join condition between R and S, and the join result-based on F
(a) 0.001 (B) 0.071 (C) 0.167 (D) 0.125 %
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33. Suppose a‘table T'is defined as follows:.
create table T ] T o :
(.es © o
staritime time with time zone, - T e £
N i} N U
A user execute the following insert operation: - T
insertinto T (..., starttime, ...)
values (..., time *10:00:00-08:00', ...}, . ST
What is the interpretation of the above starttime as a UTC (Umversal - -
Coordinated Time) value? . : -
(A)2:00:00 (B) 8:00:00 - (€)10:00:00 - (D)18;00:00 .-~

(¥

34. Consider the universal relation R = {4, B, C, D, E, F, G; H, 1, J} and the set of - -
functional dependencies F= {{4, B} — {C}, {4} = {D, E}, {B} = {F}, {F} —;
{G, H}, {D} — {I,J}}. What s the key for R?

A){B:F}  BI{B D} ©O{4Dy {O){4,B} . o

35. Consider a disk with the following characteristics: block size B = 512 bytes,. )
interblock gap size G = 128 bytes, number of blocks per track = 20, number of
tracks per surface = 400. A disk pack consists of 15 double-sided disks. What is the
total capacity of a disk pack?

(A) 61.44Mbytes  (B) 76.8Mbﬁes (C):122.88Mbytes (D) 153.6Mbytes ..

36. Consider the situations in.which two or more-processes are reading or writing
some shared data and the final result depends on who runs first, the situations are

called . Lt . L
(A) dynamic binding (B) demand paging - v
(C) race conditions (D) busy waiting v

37. Consider a disk with 40 cylinders. A request comes in to read a block on-cylinder
11. While the seek to cylinder 11 is in progress, new réquests,come in for' , *
_cylinders 1, 36, 16, 34, 9, and 12, in that order. What is the disk arm scheduling
algorithm used if the sequence of seeks is 11, 12, 9, 16, 1, 34, and 36?
(A) first-come, first-seryed - *(B) shortest;seek first vt .
(C) elevator algorithm. (D) bank’s algorithm  r I O PR

~ -7 }

| T T [T ——
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38. We are sending a 30 Mbit MP3 file from a source host to a destination host.
Suppose there is only one link between source and destination with. a-transmission
rate of 10 Mbps. Also suppose that message, switching is used, with the méssage
consisting of the entire MP3 file. How many bits will the source have transmitted
when the first bit arrives at the destination? . . . o

(A) 10,000, (B) 500,000 . (C) 15,000,000  (D).30,000,000
39. Internet telephony typically runs over
(A)HTTP (B) TCP (C)upp -. (D)ySMTP __

r
« - F o f

40. When a TCP segment arrives to a host, the socket to which the segment is directed
depends on . . .
., (A) the source P address of the datagram that encapsulated the segment
(B) the destination port number
(C) the source port number
(D) all of the above "

-

FEES -
- t
ELS » a - P . -'. " .

41, When a UPD segment arrives to a host, in order to direct the segment to the

appropriate socket, the OS uses . yoootw

(A) the destination port number
(C) the source, port number

42, ICMP protocol
(A) runs on top of TCP
(C) runs on top of UDP

(B) the source IP address o
(D) all of the above

(B) r'uns:directly on top of IP
(D) none of the above

43. An undirected graph G is a pair (¥, E), where F-is the vertex set and £ is the'edge
set. Let the degree of a vertex in an undirected graph be the number of edges

incident on it, then Y degree(v) = .
vel

(B) 2] (D) 2IE+2|

(A)2E-1] ©2E+ 1]

-
=
L]
-
-+

44 Given an open-address hash-table T with m slots that store » elements, s load
factor o, = n/m is less-than 1. Assuming uniform hashing, the expected number of
probes in an unsuccessful search is at most
A 1/2+aw) -+ (B)l/(2-a) C)/(l+a). DOYU(L-a).

- [
i , - )
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45. Which one of the following is NOT a catégory for debugging approaches? '
(A) versioning "' - »  (B) bruteé force
(C) backtracking . " . - (D)‘cause elimination

46. Which one of the following is NOT a part of the CK metrics suite?
(A) weighted methods per class - (B) depth of the inheritance tree

(C) class size (D) number of children

47. Which one of the following is correct?
(A) A formal and detailed description of information domain, function,
performance, interfates, design constiaints, and validation criteria is essential for
software efforts. ' .
(B) Whenever a software project gets behirid schedule, the best way to catch up
ié to add more programmers. -

(C) Project requirements continually change, but change can be €asily
accommodated because software is flexible. ’
(D) The only deliverable for a successful project is the working program.

48. Steganography serves to

r
3

* (A)recover the plaintext of 2 messagé without access to the key

(B) ensure that a sender should not be able to falsely deny laterthat he senta
message '

(C) hide secret messages in other messages

(D)enable the receiver of a message to ascertain its origin

49, Which one of the following is vulnerable to chosen-plaintext attack?

(A) one-time-pads cryptosystem' - L Ll

»

(B) symmetric cryptosystem - BRI B
(C) public-key cryptosystem .
(D) hybrid.cryptosystem

50. Consider a function f with the following properties: it is easy to compute f{x)
given x; and hard to compute x given f{x); however, there is some secrete
information y, such that given f{x) and y it is easy to compute=x. Function fis -

. called a ' UL
)' (A) trapdoor one-way function (B) interlock function
(C) self-shrinking generator function (D) elliptic curve function

—TIT“T
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1. YtEREGESH ﬁﬁ%ﬁ:@ﬁfﬁﬁﬁnaﬁ’%ﬁﬁﬂﬁﬁb J«XFW“@@& ?
(A) ‘locil variable ‘
(B) global variable
(C) class variable
(D) instance variable

2. ATH Eﬁ%ﬁuiﬁﬁ‘ﬁaﬁiﬁ‘ (functlonal programrmng) H‘Jﬁiﬂlﬁﬁ %IEEE"
(A) B iETaesa
(B) CESTHEMhietEsaatmhimaE )
(C) whileloop EHERZELIMRERERR S A BEER D
(D) BhEERTERE S BB E SRR '

3. LUTHE—M@i5 <52 Unix RAET @ FUH H A E R0 W-&E*J?a'% ?
(A) ld-al
(B) Id-all
(C) Is-al
(D) Is-L

4. PATEH—MEHE <52 Unix %ﬁ—F Eﬁkﬁiﬁﬁﬂ%lﬁﬁg?ﬁ% ?
(A) chmod
{B) chacs -
(C) chright . . '

! (D) chown .

5, LI Apache BRRBHIHEMT-HERE 7 o
(A) Apache LB R FAHOTKE
(B) Apache & B {82 RHiR &S
(C) Apache 2 HTTP HofEIIREE

r (D) Apache FERUKIIBIE EEE AR LR AT

6. DAFH—EERESTE ﬁ%ﬁﬁﬁ%ﬁgfﬁ B ?
(A) Apl
(B) Python -
(C) Perl

(D) ISP

BT
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7. DUTER CGI Byl e & IERE ?
(A) CqI E"@ﬁ%ﬂgﬁﬁ‘tﬁgﬁﬁfﬁ g}
(B) CGI2—{a#EksrE g HTTP {3 ﬂﬁﬁﬁﬁﬁﬁﬁ@ﬁ%f\ﬁ
(C) Java sESTHEFZRE CCIRvER
(D) ASP H#iFHRE CCl A=

8. U\—F;ﬁﬁﬁ Java E—tnn = %?&Lﬂﬂ%‘w ? !
(A) —fEJava BB HEIY class ﬁﬁ%&nﬁﬁ‘ﬁﬁﬁﬁﬁﬂﬁﬁk Jaya ] virtual
machine ch
(B) Java BBATEHTIR I automatic garbage collecnon HITHRERTLARE
£ memory leak HyEISR
(C) Just-in-time compilation E?Eﬂ' Java FBZURAT 3&$WJE¢?
(D) TJava FIiE mult1p1e inhéritance

0. UTH BASETTHE (multiple threadS) E@fd{“iﬁﬁ%‘m?
(A) Java STIRSHITHTHRE
(B) T[EIHY thread B EFIHIMHEZ2RT (address space) B
(C) Multiple threads o 24M0F (time sharing) ITHI—REAR |
(D) A[AHY thread | _.fl;lﬁ}ﬁﬂ-— process ETHEHEZER

10. UM ERIREAGE S AR (type) IR RIERE ? .
(A) CEESTHETE compile-time M AT B A HEER HISHRR
(B) Dynamic type #9555 e BT IR EE U RERR ISR |
(C) Perl Z2—f& dynamic type HUEES
(D) HEFIZAGEBE AR (aray reference out of bound)%—‘ﬁifﬁﬁﬁﬁiﬂg
BURESERR (type error) -

1. Tﬁu@E—Eﬁﬁﬁ%@ﬁﬁﬂ%&@ﬁwﬂ%ﬁﬂuﬁ%HfJ ?
(A) ATM (B) ASL (C)ISDN .

12. "FFIE—RE Sort TEA R AFFELEAERFR ? ,
(A) Quick Sort (B) Merge Sort .« (C) Insert Sort . (D) Heap $ort ,

13. T¥I4584 NET Framework Z Sl {a&RIEHE ?
. (&) EEFIA MSIL(Microsoft Intermediate Language)ﬁﬁﬁ@tﬂ%ﬁ‘tﬁﬁﬁzli‘*
(B) E37IRMURATHAEENY Visual CHEREES
(C) Visual Studio .NET Z371#%2 NET Framework FBE25BR1ES
(D) ASP(Active Server Pages)f2Z\fE¥:4E NET Framework 3417

(D). Frame Reiéy

I
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%@ TEMAKR B KB A% DR TEF -
A H—EBEEHRRTE DA EEHAE FIE : F5TRERR (2)

14, CRES ¥ EHAT ¢
char *fun(char *s1, const char *s2) . '
{ {
register char *p =s1 + 2;
i while (*p)
' ++D;
while (¥pi—+ = ¥s24++)

retum s1;
}
auH fun( “abed” , “efgh” )=7? . '
(A) efgh (B) cdefgh (C) efghabed (D) abcdefgh
15. FHIE B2 NTT DoCoMo fe5% L HEHRS (-mode) Z FOR{AI FH R IERE 7
, (A) RS BA IS E R0 RN ES

(B) HLRENRHS T A A SRR TS
©) HRIRERIRERENIA WML FE S R RH
(D) BLHERRFSRA AR R AR GRS Y

i 16. T%14EEH ER Model Concepts 2Z #t{al FAILHE ?

(A) Thé ER model describes data as entities, relationships, constraints, and attributes.

(B) The basic object that the ER model represents is an entity, Wthh isa “thing”
in the real world w1th an independent existence.

(C) A relationship type R among n entity types Ei, Ez, -, E. defines a set of
associations among entities form these types. *

(D) Relationship types usually have certain constraints that limit the possible
combinations of entities that may participate in relationship instances.

' 17. T%45 18 Operating Systems Z FXUL{A T IEHE ?
, (&) Traditional a process contained a single thread of control as it ran, most modemn
operating systems now support processes that have multiple threads.
(B) Most modem computer systems use disks as the primary on-line storage medium
| ' for both programs and data.
(C) The First-come, first-served algorithm is preemptive; the Round-robin algorithm
| is nonpreemptive. l
(D) Operating systems are now almost always written in a systems-implementation 2
language or in a higher-level language.

e e e
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! 18, %% Expert Systems 2 AR IEHRE 7

l (A) The area of expert systems is a very successful approximate solution to the
| classic Al problem of programming iniqlligence. '

1 (B) An explanation facility is an integral part of sophisticated expert systems.. -

(C) One of the most popular types of expert systems today is the rule-based systems.
(D) PROLOG is a good example of a forward chaining system that tries to solve a
\ problem by breaking it up into smaller subproblems and solve them individually.

19, THUEH Cirt 2 ORTHTIERE ? |

' (A) A reference is an alternative name, or alias, for an object which. is currently in
SCOpe. .

(B) A friend function is a non-member of a clase which is given access to the public
members of the class,

(C) Polymorphism is defined as having several forms, and in C-++ means that some
iject refers to instances of various cl_asses at run-time. h

| (D) Exceptions provide a means Wheréby a function, upon identifying an error

situation for which it is unable to determine what is the correct course of action,

1 can report this position to the calling function.

|

|

20. T¥145 R Electronic Commerce(BEC)2 FATE R IERE 7
(A) EC describes the manner in which transactions take place over network, mostly
the Intemeg,.
®) Business-to-business electronic commerce implies that both the sellers and
buyers are business corporations, while business-to-consumer electronic
commerce implies that the buyers are indjvidual consumers.
' , (C) Three typical architectural models of electronic marketplaces are
1 supplier-oriented marketplace, buyer-oriented marketplace, and
intermediary-oriented marketplace.
(D) There are two types of electronic stores: electronic distributors and electronic
brokers. If the e-mail takes responsibility for order fulfillment, it is an electronic
distributor. Tn contrast, electronic brokers only help the search process.
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1. E{RIEELE Windows {EEE RS T EASE Web-Based JEFR AHs » fREERAME
FEREHSRIE 7 3L4E Linux {E2ERAT - IR AR AR BEEE 2 YiEh,

HHEREA - (10 43)
2. {a[58 UML(Unified Modeling Language) ? S RI4E R A BLas &t L anwi{si A
| UMLWE ? (10 43)

3, {EERTR S e REi(Symmetric Cryptographic Algorithm) B JEEIFESIATEHE
FAF(Asymmetric Cryptographic Algorithm) ? NIEATR SR Tl R EERE
R R i S EERThEEDR ? (10.4)

4. FEEA CREE R  EEEAGHE sdin @A ZERE - KR —EiH
RJE order HYEHEY (function) » FEAL order w2 R EN I E RS B/ NENKHER: - 5%
FIF order #& = {EREEE/ NEIABERFR » BHZE stdout - order RARHAEER
* int AUHBAL BB FEMTEOE R — (A AL SRR AR — (it 24
hFROME SR E A2 PR E AL - (15 5)

5. F4EA C ~ Perl ~ Java B¢ Scheme FHME—RES B —EE » EERRNPEEH—
R &1 DT S S EorE i - ‘
3,4,9,-5,-2,7, 11,25, 9, 14
® G —ERNE (function) BA¥: (method) @ HEEEZEHEREA » W ;
E3E BB PRI - i
® FiEI—ERM (function) BX 5% (method) » RHEEZRIASHEEA » 4 ’
(B8 Ee e vh 2 2 v I ‘
® FEE—&E (function) B 5% (method) » BHEEELRIASHYMEA » A
[E)3E RIS -
® GEE—FEN B LE=MEEE (function) B 5% (method ) A{HEIES
EAHE RS (stdout) ko (1549) |
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L Bl 3L T MR 8K B A+ BER
N NA—SEEFRFELEASESRAE o wee

— ~ W w5 #(Quadtree) BH BT A » REAFTHER 8x8 & Hp(a s
0> Bl ) ERFwIHIL IS H -

= BRBEEMMHRY LT ROVRARETATRBRE  fo TOEA, &
MHEFX TE B TARNE -BBRREF—CTH TUEEBLEMH
B e Tagek g Fo TE85 A ARESE  FRGFRITHERES
M f g ok R TURETRAL  QGHER - BAKE R
FRBHEATHESCS ?

Ju

» ¥t AT A A ABCDEFGH » + 4 % CBAEFDHG » 3% i 4k =7t
B0 -

W RONEE TREGANTF R "RAGANTE WRER - EUTHS
PR QErsests) FH TREGANE R "REGANT W
B# 15 %5) -

b

s REB-AREER REABE_AMTREREZREQISD) -

| 75~ {7#§ Radix Sorting? SRR 2 - —# ™M T » Radix SortingFHF AT IEH
: + X —HFH MSD (Most Signficant Digit) {EHEF » =& 4B LSD (Least
: Signficant Digit) 4kdk A » MR ERMEF R FAERKLFHIUISS) ©

T T
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= ﬁf‘? WSERTIE IR AR BIE © poHg
PATERE 10%3: 100%:

) HEH - EERR | MEZAFA, % 5 ¥ WESE 2 HBH
PREEARY 12

2) a) & Zy[x]H, BEN p)=x’+x+2 EEAENIHE ?
b) ABEH Z,[x1/(pX)).

3) a) FAER K.
b) :ﬁﬁ% K-J_3 K%ZF‘E (Non-planar) .

4) FE b, =@1)(b,, +b,,), Hf b,=0 H b,=1.

5 a) fAEH "NAND" [ ?
b) ZE8HH : {NAND } E functionally complete .

6) a) Explain the terminology isomorphic.
b) For the following pair of graphs, determine whether they are isomorphic. If
they are, give functions g:V(G)—V(G") and h: E(G)—E(G’) that define the
isomorphism. If they are not, give an isomorphism invariant that they do not

b u
_ . x
= e y

7) Prove that every connected graph has a spanning tree.
8) Use symbols to write the logical form of each argument shown below, and then use
truth table to test the argument for validity.
If Tom is on team A, then Hua is on team B.
If Hua is not on team B, then Tom is on team A.
.".Tom is not on team A or Hua is not on team B.
_ 9) Find a counterexample to show that the following statement is false :
For all sets Aand B, (ANB)UC=ANBUC).
10) A function fis defined on a set of real number. Determine whether or not fis
one-to-one and justify your answer.
JX) = (x+1)/x, for all real number x70.
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Identify a company that has become a market leader because of its innovative use
of information systems. What other critical success factors for the company ?
(25%)

2.  What are some reasons why companies value their transaction systems ? (25%)

3. {73 M-Commerce ? M-Commerce j§ o {TH B R MBHELHARER? B
A ? A RAR BLAE E b ATHEE ¥ o R R4 R iE R % M-Commerce Z %
BIHRVE? BAAT (25%)

4 ERRARBACRREES  Hlo CPUREEANNTE  RREEL
BEMRAFZTHEH HEETRARERELEBAMBE? HLEH N
ANBAXBHTHE? (25%)
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